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QUESTION 1

Your customer wants a newly installed AFF C190 cluster to send SNMP notifications to a trap host called
OVERWATCHOL. In this scenario, which two statements are correct? (Choose two.)

A. Configure an SNMP community string on the cluster.
B. Configure DNS on the cluster.

C. Configure a trap host on the cluster.

D. Configure a firewall policy and allow SNMP.

Correct Answer: BC

Reference: http://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-nmg%2FGUID-525CBCFB-
E855-4FE6-B975-0AB69F499110.html

QUESTION 2

You have installed a new 2-node FAS9000 cluster with two external shelves. You want to make sure that each node has
two paths to each disk in the shelves. How do you verify your configuration?

A. Use the storage show disk -p command.

B. Use the storage disk option show command.
C. Use the disk show -fields initiator command.
D. Use the sysconfig command.

Correct Answer: C

QUESTION 3

You are installing a new FAS2750 cluster with 24 HDDs for a customer to run a NAS workload. The customer requests
that the HA pair have only a single aggregate that is located on Node 1. Maximum capacity is required. Which action
must be performed to ensure that the customer\\'s requests are satisfied?

A. Perform a takeover of Node 2 to ensure that it does not run.

B. Assign all data LIFs to Node 1.

C. Assign all the partitioned disks from Node 2 to Node 1, and create a single aggregate.

D. Assign all the data partitions from Node 2 to Node 1, and create a single aggregate.

Correct Answer: B
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QUESTION 4

After completing a technology refresh, you need to schedule a knowledge transfer with a customer. The customer asks
you to address a number of topics during the meeting. In this scenario, which two topics would be appropriate to
address? (Choose two.)

A. performing database application data migrations

B. logging the customer support calls

C. accessing internal NetApp KB articles

D. registering for access to the NetApp Support site

Correct Answer: AD

QUESTION 5

Which two SVMs are automatically created during the cluster setup? (Choose two.)
A. admin SVM

B. system SVM

C. node SVM

D. data SVM

Correct Answer:. AB

NS0-181 Practice Test NS0-181 Study Guide NS0-181 Exam Questions

NSO0-181 Practice Test | NS0-181 Study Guide | NS0-181 Exam Questions 3/3


https://www.passapply.com/ns0-181.html
https://www.passapply.com/ns0-181.html
https://www.passapply.com/ns0-181.html
http://www.tcpdf.org
https://www.passapply.com/ns0-181.html
https://www.passapply.com/ns0-181.html
https://www.passapply.com/ns0-181.html

